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Subject: Social Science Class: 12 Maximum Marks: 80 Duration: 3 hours 

Section A: Objective Type (20 marks) 

1. Multiple Choice Questions: a) The term 'globalisation' refers to: (A) Local 
economic activities (B) National economic activities (C) International economic 
activities (D) Regional economic activities 

b) The National Rural Employment Guarantee Act (NREGA) was enacted in the year: 
(A) 2000 (B) 2005 (C) 2010 (D) 2015 

2. Fill in the blanks: a) The Constitution of India was adopted on _______. b) The 
head of the Gram Panchayat is called _______. 

Section B: Short Answer Type (30 marks) 

3. Explain the concept of sustainable development. Discuss the role of education 
in promoting sustainable development. 

4. Analyze the causes and consequences of the Green Revolution in India. 

5. Discuss the role of women in the Indian freedom struggle. Highlight the 
contributions of any two prominent women leaders. 

6. Explain the impact of globalization on the Indian economy. Discuss its 
advantages and disadvantages. 

Section C: Long Answer Type (30 marks) 

7. Describe the factors that led to the emergence of nationalism in India. Discuss 
the role of Mahatma Gandhi in the freedom struggle. 

8. Analyze the challenges faced by democracy in India. Suggest measures to 
strengthen democratic institutions. 
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9. Discuss the causes and consequences of social inequality. Explain the 
measures taken by the government to promote social equality. 
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